EARAZROREIERT — 2 N—XBISY —F 2013558290 (k) 4MEI%HA2H

KM >%B6#H B6 H5%—#% ‘ [X%&] ™ ‘ (] — | & (&) 14000 TR
[AE£] 1% :140,000 ™ ~ 2% :28,000 ™  37%&:14,000MW  4%&:0MH / 5&:0H
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
Bty TR 6 gﬁﬁs%fl\ 1:(3_0).7 8-7-6-4 [39.0| — | 5 | 414 ggg?’; (%42)
LY/ by THY B:INEgAY (48) $#ME 1EM
2 gl 7V—~> H o4 Q%E(l)*ﬁ/% (1::19% 2-2-1-1 [41.0| — | 3 | 500 ;@%I(%%(ﬁm)
. T/ n
R:ZFAA-NE BifRXKU—L 02| ks
S MBS LT > 5 éiﬁé{lé'ﬁﬁu (11:311/.2% 6-6-5-3 |39.9| — 2 434 jﬁ}ﬁ%i (&)
RRFAT-WE B:Yr555 2| i
4|8|o| 71 7RKRE - v E F7 S IR kel B I Bl iy AP
R:Av>H—A>F—7 B:a24%a%y b [z e ]
5111 oo %3g i 8 ﬁﬁokf 1:(311).3 4-4-4-4 | 40.6| — 7 442 2;%2 (BHE)
R:ZRT— bE—f BFAL=—F1- 40155 kas
6lzl7| 77—t b o] B 1:(342).1 5577 (40.4| — | 6 | 484 nggtg;;ﬁ_gf)?
RTFRTH— BHISILTLR 2| srrnas
= . o7 | WTHZ 1:32.4 7-8-8-9 | 40.2| — 8 465 |MEZEX (K1)
71515 AAKRTTy X — A53.0 (1 1/2) (-5) *QU.ICE N
RiFavhaUans BAAEIIA B it
= SR o4 | BB 1:32.5 3-3-32 |41.8| — 1 489 | MOEE=AR (S£42)
8 677?TZDVF 56.0 (3/4) (o) | FPEESE :
v IRy b BT R=)b J =Y Ty —L
TUEFL o5 | ABRER 1:35.2 1-1-2-4 [45.7| — 4 | 451 |JIIBELE (E*’A‘L
9 3 /\'):E_Tt/: '7 . ] . 56.0 (214) (+9) (#B) ;k—zi;:/ .
LY I\ F— B X—=IN—T7A > IJEILRZIA R
® I—F—@EBIERL
13—7+— 3,8,6,1,7,4,5,2,9
Ao=5"= 3,8,6,1,7,4,2,5,9
30—F+— 8,3,6,1,4,2,7,5,9
41—F— 8,6,4,(1,2,3),7,9,5
[ RN
B 2 1,970H 74K 2-8 820 & 2-8 3,110 &R 2-4-8 3,250
# B 2 300M 2-4 300 B E 2-8 4,560 EE 2-8-4 35,570
8 230M 4-8 250M B H 2-8 15,8100
4 120M

ABICOVWTRDTEEERROODE. TR LIV,




